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Date: 10.21.2019

A "Homework:" 4th Grade Weekly Spiral Review (10.21-25.2019)
For credit, please CUBES and show all of your work.

£234.67 pounds
I. Richard moved stones that weighed a total of 234.67 pounds o a construction site. Which statement about
thls number of pounds is true?. "*“MMM”f B

s g 4 f“x,
L 40.6 T0.07
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A Tedigt6hsaaeostt b 200OTI0 T
B. Fhe-digit3-has-avatreof3,900, 4 ()
o The digit-6-has-e-vatae-of 096, D.b

The digit 3 has a value of 30.v~

T
2. Keller lives in a city with(54,706 people)_lﬂ)awson lives in a city with{4 02 people How can the e two cities
that Keller and Dawson live in beicompared? Mark your answer. .

\'\

P e
F, 45802 > 54,706 2 @ 7‘:}@
@) 54706 > 45,802 A
45,802 = 54,706

J. 54,706 < 45,802

3.  Lance rounded4,018,463\to the nearestfthousm What 1&,40 lﬁrounded to the nearest thousand?
Mark your answer.

4,606,000
4649000
4,018,000 ¢+
4-01+8;560—

g

4. Which of the followmgixs NOT true‘7

WW‘I’&%@T \7/
G 48,017:240263"] 1 / b/C

5. Ineach model, the shadeq«gomo;b represents a de,eungl less than one. Which shaded model represents
a number tlat ist greatel thai/0.54 But less than%é e
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Mrs. Martin baked a pan of brownies, and she cut them into 10 equal parts. Mrs. Hendrix also baked a
1 into 10 equal parts. Which of the following answers shows the

Mrs. Martin

Mrs. Hendrix
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How many%housandslare in the numbp/r/IEG 45 1’2
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The decimal numbe i
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Which grid is shaded to represent a decimal less thalg Q&;V
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9. What part of the model is shaded?

24 ¢

1.

il fraction?




There were(2,821,112 buckét?}gf candy ready to be handed out at the fall festival. How woyld

you write this numbef in words? ~
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two million etghttwe-one-and one twelve
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Which of following answer choices means the same ag

13.

50
V(50+6

0+

3)600+40
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This model is shaded to represent 1 whole.

14.

Zack drew a model that was shaded to represe@. Which model could Zack have drawn?
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Sherri has an amount of money that would make the comparison below true.
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16. In2 08 the total number of cell p orre~ n Indonesia was about(140,578,000.

_expression has thé same valﬁé aé 140,578, OOO

-
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100,000,000 + 40,000,000 + 5,000,000 + 700,000 + 80,000 = { -fﬂ i’:}% 7
100,000,000 + 40,000,000 + 500,000 + 70,000 -+ 8,000 E L}@ ,”? ;
10,000,000 + 4,000,000 + 500,000 + 70,000 + 8,000\‘~§ P 3:}

100,000,000 + 40,000,000 + 500 + 70 + 8_,

17.

third game, and 687,564,312 fan swho watched the fourth game What was the, largest number jof fans

that watched a game last year? %051:}@%’; % zg ; %jj

| \ A, 654,321,024 é@g“; g’yzgﬁ

B. 665,528,310 5 "
687,564,213 bg 7; . Qé’fﬁ“
687,564,312 é?‘% "’g 2}@@ (9
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i SOL\ncesof water on Tuesday. Which
fster drank during the 2 daqu "

IR

19. Luke's hamster drank 0 1 ncesf water on Monday and’
model shows how_much the Bar

20.  Hunter wrote a number that wag 1040 6

36,848
37,748
46,748
36,749




